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#tinclude <stdio.h>
int main() {
Int X; O
scanf("%d",&x);
printf("%d",x);
return O;
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#include <stdio.h>21EE R ERN—FIF

#include <stdio.h>

O

int main() { @ 7 BT LU
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INt X; B ZEXEH -

scanf("%d",&x);
printf("%d",x);
WM O s AmRERstdio hE TR

)  include@i&stdio.htR T E5| AR - B Escanf()Ed
printf()2k B istdio.h & =&



- @&
=HNBEES
FRRE
FroRE
LN
=1
REBIVRETEHIFTBZRIAR D I8 - BRI ETEIREE






BRI - X RBEIIEDN(FE) 4GS

-BlEN(FEN)GE
- MRB-EEAREARENNM S RBLIR - olLUKELERE VRS
HEIB I RVE S

R

AR EERARREASNEE
B INEREE N B

TR BRI S




R TVRYE B

B =2 FR AU (function cal) AW T 51 A (invoked) + BRI
H’\J[EMDH?EHHT%ﬁlﬁHE’\J@EC%% - WiIRHEN ( S1F5|18)
A IEOYRR T - DURIT AN R =0y T/

BETDHBRUASEE  ZE ( EIYREEIZE ) Z3K
RUET (RFAURIRTV ) ZRTRIBLME - W LIFE

SR -
1§UﬁDﬁFﬁuﬁbl};Df%uﬁﬂ%ntgiﬁzﬂgaﬁ%ﬂ?@f;f?

printfi &N #R I/ AR 21 iR [ | i |
WEAS, - {BERRER I AHIE R TR AT - &
34110 LU B I AL L A = J_—

¥ cricrs




A TVAYRE Fo




(A ITRYRE QP18 AX) PR T(1R BE




oo s ST T g
|_|_t ,‘Jnnlfﬁfﬂ
(EEENERER - )

A EOE R EAER - SvoidElE T mREE

(HH B E
TRRNETE—EEmain - ERRENE T BIRIERG ISR
SHFIE

- JUURZEN - AEAREBEZE - ()HABERE
- Mol fE - 2R ZBLIE R
- SEWNARRIRAR - oJUISE 8 - [EAISER

(BEENENEE XX 2HES8I%)

R ERINEZ—H{) | - IR

EEES L
(F9 1T 033 T A ) B =12 TR




c PR TCRY B = A0 0L




=iAL: RiA2:
FEE  FEAREFENE oAV FRE TV ZA]

int slave( )} int slave( ){
int main( ){ return (1+10)*10/2;
printf("%d\n",slave()); }

return 9; . -
int main( ){

}

int slave( ){ printf("%d\n",slave());

return (1+10)*10/2; return ©;
}
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int slave( ); 1 i IlEI = slave
int main( ){ 2 EElslave BRI IT 4R
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printf("%d\n" ,/slave());
return 9;

}
int slave( ){

return (1+10)*106/2;

}
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float area3(float r,float h)
{

return area2(r)*h;

}
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iinclude <stdio.h>
void crazyprint () ;

void crazyprint () {
printf "B EERRER, HEREIEFE. \n”)
} ERBRIRNEE - B—1E
int main() crazyprintQR= - ElH" B2
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int i, n; Eﬁ‘ﬁ)\-ﬂﬁl%%ﬂn ’ ;;%Z'_EEJED://Q%QO
scanf ("%d”, &n) ;
for (i=1;i<=n;i+) {

cra%yprint 0} F':ﬁ;?:E nr\

return 0; <«
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B int x,y;
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int ged(int x, int y)
{
int r=x%y;
while (r!=0)
{ NN
X=y;
=r; [l 454
SEEE
r=x%y;
}

return y;

}
int lcm()

{
return x*y/ged(x,y);

}

int main()

{

cin>>x>>y;
cout<<lcm()<<endl;

return ©;
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